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QUESTION 1

Which two commands or commands sequences configures a switch so that if tags native VLAN 3839? (Choose two.) 

A. interface GigabitEthernet0/0 description to HR Building M 6490-406 swithport trunk native vlan 3839 

B. interface GigabitEthernet0/0 description to HR Building M 6490-406 encapsulation dot1q tag vlan native 3839 

C. switch(config)#set switch native vlan 3839 

D. switch(config)#vlan dot1q native vlan 3839 

E. switch(config)#vlan dot1q tag native 

Correct Answer: AE 

 

QUESTION 2

A network engineer notices inconsistent Cisco Discovery Protocol neighbors according to the diagram that is provided.
The engineer notices only a single neighbor that uses Cisco Discovery Protocol, but it has several routing neighbor
relationships. What would cause the output to show only the single neighbor? 

A. The routers are connected via a Layer 2 switch. 

B. IP routing is disabled on neighboring devices. 

C. Cisco Express Forwarding is enabled locally. 

D. Cisco Discovery Protocol advertisements are inconsistent between the local and remote devices. 

Correct Answer: A 

If all of the routers are connected to each other using a layer 2 switch, then each router will only have the single switch
port that it connects to as its neighbor. Even though multiple routing neighbors can be formed over a layer 2 network,
only the physical port that it connects to will be seen as a CDP neighbor. CDP can be used to determine the physical
topology, but not necessarily the logical topology. 

 

QUESTION 3

Refer to the exhibit. 
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Which two statements about the network environment of the device that generated this output are true? (Choose two.) 

A. The default hello and hold timer values are in use. 

B. The standby router can take the active HSRP if it fails to receive a hello packet from the active router within 1.616
seconds. 

C. The priority value of the HSRP group is 1. 

D. HSRP version 2 is in use. 

E. The standby router can take the active HSRP role if it fails to receive a hello packet from the active router within 10
seconds. 

Correct Answer: AE 

 

 

QUESTION 4

Which two beneficial features are used for VTPv3? (Choose two.) 

A. It supports the whole IEEE 802.1Q VLAN range up to 4095 

B. It can transfer information based on PVLAN structure 

C. It supports the whole IEEE 802.1Q VLAN range up to 1005. 

D. It can transfer information based on CDP structure 

Correct Answer: AB 

 

 

QUESTION 5

Which acts like a client when using TACACS+? 
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A. router 

B. client workstation 

C. client using wireless 

D. AD server 

Correct Answer: B 
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